Calculations Code Breaker Answers

Revenl a joke by writing the percentaoge equivalent to the following froctions and decomal
froctions. Use the grid to locate the letter that matches each answer.
The joke will read across the tables.

6% | 15% [ 21% | 5% | 1306 | 24% | 18% | 7% | 12% | 1% [ 25% | 19% | 9%
22% (16% | 11% | 26% | 2% | 17% | 20% | 3% | 10% | 8% | 14% | 23% | 4%
T 1 18 13
0.08 m 0.06 E ﬁ 0.16 m 0.17 ﬁ 0.11
8% | T% | 6% | 20% 18% | 16% | 13% | 17% 3% | 11%
w H A T G o E s P
2 13 2 13 22
E .07 m 0.22 E .07 m 0.02 m 0.12 m’
B% | T% [13% | 22% 20% ( 7% | 13% 2% | 6% | 12% | 22%
w H E M T H E R A I N
& 13 5 8
0.21 E 0.09 ﬁ 0.17 ﬁ 0.16 m 0.22
21% |16% | 9% |13%|17% 5% (16% | 8% |22%
C (4] ™ E 5 (] o W ] ?
22 9 2 19 [:]
0.06 m 0.03 m 0.15 m 0.13 ﬁ 0.19 m
6% (22% 3% | 99% |15% | 2% [13%|19%|19% | 6%
A N u | B 4 E L L A .




